
There were 345 red 
marbles and 253 blue 
marbles. 
How many marbles 
altogether? 

There were 621 
sweets in the jar.  
The shop sold 348 
sweets. 
How many were left? 

There were 435 red 
marbles and 259 blue 
marbles. 
How many marbles 
altogether? 

There were 589 
sweets in the jar.  
The shop sold 167 
sweets. 
How many were left? 

There were 615 red 
marbles and 348 blue 
marbles. 
How many marbles 
altogether? 

There were 562 
sweets in the jar.  
The shop sold 276 
sweets. 
How many were left? 

There were 467 red 
marbles and 339 blue 
marbles. 
How many marbles 
altogether? 

There were 426 
sweets in the jar.  
The shop sold 248 
sweets. 
How many were left? 

 


